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How to use this booklet
This booklet goes through the paper one question at a time, showing you a high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the examiner comments. 

Example Candidate Response – high Examiner comments
1  The candidate’s main focus is on 

relevant points.

Mark for Content = 4 out of 4

How the candidate could improve the answer
	• The candidate needs to address the first part of the topic by adding two points related to the unique lifestyle of the 

people in the village.
	• The candidate could have kept the introduction and closing sentences brief and concise. 
	• The candidate should avoid writing irrelevant details and focus more on the topic given for the summary. 

Common mistakes and guidance for candidates
	• There were plenty of opportunities for candidates to score maximum marks in this part. The points given for 

discussion were specific and clear and demanded exact information. 
	• Candidates not familiar with this style of summary writing tried to summarise the whole passage and gave lengthy 

irrelevant details, missing out the required information or neglecting the word limit. 
	• Direct lifting of information from text affects the language marks negatively.
	• Candidates who were careless regarding the spelling and grammatical structures lost marks for language. For 

this exercise, they reproduce the information from the given text after tailoring it to suit the demand of the topic. 
Spelling and grammatical errors can be avoided.  

Responses are written by real candidates in exam 
conditions, demonstrating the types of answers for each 
level. These could be used to discuss and analyse the 
answers with learners in the classroom to improve their 
skills.

Examiner comments explain 
where and why marks were 
awarded. These help to interpret 
the standard of Cambridge 
exams to help learners refine 
their exam technique.

This section explains how the candidate could improve 
each response. It helps learners to improve their exam 
technique.

This section lists common mistakes as well as helpful guidance 
from the examiner. This will help your learners to avoid these 
mistakes. You can use this alongside the relevant Examiner 
Report to guide your learners.

1

Responses are written by real candidates in exam 
conditions, demonstrating the types of answers for each 
level. These could be used to discuss and analyse the 
answers with learners in the classroom to improve their 
skills.
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Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level Second Language Urdu.

This booklet contains responses to all questions from June 2024 Paper 1 Reading and Writing. 

Exercises 1 to 3 responses have been written by a Cambridge examiner to demonstrate the correct answers and are 
accompanied by examiner comments highlighting common errors and misconceptions where they are relevant. 

For Exercises 4 and 5 we have selected candidate responses to show how different levels of candidates’ performance 
(high, middle and low) relate to the syllabus requirements. This document helps teachers to assess the standards 
required to achieve marks beyond the guidance of the mark scheme.

The questions and mark schemes are available on the School Support Hub

3248 June 2024 Question Paper 01

3248 June 2024 Mark Scheme 01

Past exam resources and other teaching and learning resources are available on the School Support Hub

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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Exercise 1

Example response

Question Answer

Question 1

Question 2

Question 3

Question 4

Question 5

Question 6

Examiner comment
	• In general, this exercise was very well understood by a large majority of candidates and many candidates scored 

full marks. 
	• Some candidates struggled with Question1, although there were multiple acceptable responses for this direct 

question. 
	• Question 2 and Question 5 were worth 2 marks each; some candidates only provided one detail worth 1 mark. 

Some limited ability candidates could not comprehend the questions properly and gave ambiguous answers. 
Especially for the second part of Question 2 responses like 
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Exercise 1 
Example response  

Question  Answer 

Question 1  �  ز �� � �� � �ا� � �� �� ۔�زا ��ب  

Question 2  �د �� � � � �  �و� �ت � ا�ار � �� �� د�  اور     ا�ں � ا�ى  

Question 3   � � � ہ �ل� 

Question 4  �ا �ا ا �� �ت � �� ��ن   

Question 5  ز�� � � � � اور   ا� ا�ر ا�ٰ ��ں � �ا� � ��   � �  

Question 6  � � ورى � �  � �اب�  

 
Examiner comment  

• In general, this exercise was very well understood by a large majority of candidates and many 
candidates scored full marks.  

• Some candidates struggled with Q.1, although there were multiple acceptable responses for this 
direct question.  

• Q.2 and Q.5 were worth 2 marks each; some candidates only provided one detail worth 1 mark. 
Some limited ability candidates could not comprehend the questions properly and gave ambiguous 

answers. Especially for the second part of Q.2 responses like ��ر� �   � و
ت
�د �� �  could not qualify for 

a mark as it does not convey the required information. 

• Some candidates also misunderstood Q.6 and gave ambiguous answers. It enquired the reason for 
Mirza Ghalib spending a lot of time writing letters. The required answer was that he considered it his 
duty to reply to all the letters he received from his friends. Candidates who could not comprehend 
the question either repeated the information given in the question or wrote that he thought writing 
letters was his duty. 
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Exercise 2

Example response

Question Answer

Question 7 D

Question 8 A

Question 9 C

Question 10 B

Question 11 A

Question 12 C

Question 13 D

Question 14 B

Question 15 D

Examiner comment
	• This multiple-choice exercise was based on a passage about facts related to Fast Food and its impacts on health. 

The passage contained four paragraphs (A–D). The candidates had to identify which paragraph contained the 
selected pieces of information for each question.

	• This exercise was very well attempted by many candidates and a large majority successfully scored full marks on 
this task. However, Question 13 and Question 14 proved to be a bit challenging for some candidates who provided 
wrong answers.

	• While attempting a multiple-choice question exercise, candidates must always be careful to clearly tick only one out 
of four given boxes. If they change their mind afterwards, they must cross out the previous answer before they tick 
their final answer. If more than one boxes are marked, the answer will be disqualified.



Example Candidate Responses – Paper 1

8

Exercise 3

Example response

Question Answer

Question 16

Question 17

Question 18

Question 19

Examiner comment
	• For Question 16, the annual average and lowest temperature in the village was asked, which is clearly mentioned 

in the text. Many candidates missed 
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Exercise 3 
Example response  

Question  Answer 

Question 16 ڈ�  �  ى ڈ�  71 � � � � در� �ارت ڈ       �ى ڈ � �  ى ڈ� 50 در� �ارت  � او�اور  ڈ �ى  

Question 17 �پا�  � � �� ا �پا� اس �� � � � �  و� اور    � � � � وہ �پا� � �  �  �   �  

Question 18 �ا   ن� در� ��ںاور     ا� � �� �  � � � �  ے ��د �ب � ��ت  

Question 19 

ا � � �  � �   ا�ء ��ن  

 � ا �   � � � � � �ى � ا ں��ؤں � �رے ��ت  

 � � ا�ل � ���ر �راك  ��   

 

Examiner comment  

• For Question 16, the annual average and lowest temperature in the village was asked, which is 

clearly mentioned in the text. Many candidates missed � or  ڈ ڈ  in one or both parts of the  � ��ى

answer and lost marks. 

• Question 17 had two parts. In the first part, candidates had to state the meaning of the name given 
to the village and secondly, they had to describe the relevance of this name to the village. The first 
part was mostly answered accurately, while some candidates struggled with the second part and 
gave irrelevant or ambiguous responses. 

• Question 18 was about two challenges faced by photographers in the area. It was attempted well by 
most candidates, who scored full marks for their answers. 

• Question 19 was about three unique facts regarding the lifestyle of the inhabitants of this village. 
Although only three out of four acceptable points were required for 3 marks, many candidates 
misunderstood the question and gave partially or completely irrelevant answers. Some also gave 

correct responses, but missed out important details, like �  ا  could not convey رات �   ��ں �  �  � � � � ��ت

the required information i.e. (� ا� وہ �م رہ ا � (�ت  Some candidates .رات ��ؤں �  �م ��ں � ا�ى  � � � � � �ت

even wrote مشینوں instead of ں��. Similarly, the point that ‘they do not need to use refrigerator to 

preserve food, and fish as they remain useable for months’ could not appropriately convey the 
required detail without mentioning the use of refrigerator.  

 

  

 or 
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ا � � �  � �   ا�ء ��ن  

 � ا �   � � � � � �ى � ا ں��ؤں � �رے ��ت  

 � � ا�ل � ���ر �راك  ��   

 

Examiner comment  

• For Question 16, the annual average and lowest temperature in the village was asked, which is 

clearly mentioned in the text. Many candidates missed � or  ڈ ڈ  in one or both parts of the  � ��ى

answer and lost marks. 

• Question 17 had two parts. In the first part, candidates had to state the meaning of the name given 
to the village and secondly, they had to describe the relevance of this name to the village. The first 
part was mostly answered accurately, while some candidates struggled with the second part and 
gave irrelevant or ambiguous responses. 

• Question 18 was about two challenges faced by photographers in the area. It was attempted well by 
most candidates, who scored full marks for their answers. 

• Question 19 was about three unique facts regarding the lifestyle of the inhabitants of this village. 
Although only three out of four acceptable points were required for 3 marks, many candidates 
misunderstood the question and gave partially or completely irrelevant answers. Some also gave 

correct responses, but missed out important details, like �  ا  could not convey رات �   ��ں �  �  � � � � ��ت

the required information i.e. (� ا� وہ �م رہ ا � (�ت  Some candidates .رات ��ؤں �  �م ��ں � ا�ى  � � � � � �ت

even wrote مشینوں instead of ں��. Similarly, the point that ‘they do not need to use refrigerator to 

preserve food, and fish as they remain useable for months’ could not appropriately convey the 
required detail without mentioning the use of refrigerator.  
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Exercise 4

Example Candidate Response – high Examiner comments
1  The candidate’s main focus is on 

relevant points.

2  The candidate uses well-
constructed, grammatically accurate 
sentences with correct spellings.

3  The candidate successfully 
manages to keep the response 
within the allowed word limit, while 
giving all the required details.

4  All details are expressed 
effectively. There is no ambiguity in 
communication of information.

Mark for Content = 4 out of 4

Mark for Language = 6 out of 6

Total mark awarded = 10 out of 10

How the candidate could improve the answer
The candidate could improve the response by choosing to give equal importance to both parts of the topic. For the first 
part of the summary, more than two valid points are given; while the second part has very little information (although 
sufficient to convey the required information). 

1

3

2

4
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Example Candidate Response – middle Examiner comments
1  Only the second part of the topic 

is addressed, while there is no valid 
point given for the first part of the 
summary. 

2  The response is grammatically 
accurate, and sentences are 
reasonably well constructed, 
showing a good degree of language 
control.

3  The beginning and ending parts 
carry no valid information related to 
the topic. 

4  There are a couple of spelling 
errors, but they do not impede 
communication.

5  The candidate has given two 
relevant points, which convey the 
required details adequately. 

6  The response is well within the 
allowed word limit.

Mark for Content = 2 out of 4

Mark for Language = 5 out of 6

Total mark awarded = 7 out of 10

How the candidate could improve the answer
	• The candidate needs to address the first part of the topic by adding two points related to the unique lifestyle of the 

people in the village.
	• The candidate could have kept the introduction and closing sentences brief and concise. 
	• The candidate should avoid writing irrelevant details and focus more on the topic given for the summary. 

1

2

3

5

6

4
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Example Candidate Response – low Examiner comments

1  The information conveyed in 
the beginning about temperature 
is irrelevant and inaccurate as the 
candidate does not handle the Urdu 
numerals properly.

2  The candidate gives only one 
point about the first part of topic 
with the wrong information, which 
is evident of the candidate’s limited 
understanding.  

3  The candidate attempts to write 
a very basic response. There is only 
one valid point which is worth one 
mark only. 

4  The response shows spelling 
errors, although not impeding 
communication.

5  The third point about electricity 
does not convey the specific 
information required to qualify for 
one mark. 

6  The maximum allowed word 
limit is carefully observed by the 
candidate.

Mark for Content = 1 out of 4

Mark for Language = 3 out of 6

Total mark awarded = 4 out of 10

How the candidate could improve the answer
	• The candidate should avoid including any irrelevant details and carefully select the information relevant to the 

given topic for summary. It is important for candidates to read the text carefully, as the first point presented by the 
candidate was totally misunderstood. Instead of writing that all the villagers keep their cattle in one place at night to 
keep them warm, the candidate wrote that all the villagers stay in one place to keep themselves warm.

	• This candidate could write the third point about providing electricity more accurately, with specific detail mentioned 
in the text. A general statement that ‘the government has also provided electricity’ does not qualify for a mark. The 
required information is that ‘a dedicated power station has been set up by the government to generate electricity 
for the village’. The candidate should improve the quality of language with better organisation of ideas and accurate 
spelling.

1

2

3

5
4

6
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Common mistakes and guidance
	• There were plenty of opportunities for candidates to score maximum marks in this part. The points given for 

discussion were specific and clear and demanded exact information. 
	• Candidates not familiar with this style of summary writing tried to summarise the whole passage and gave lengthy 

irrelevant details, missing out the required information or neglecting the word limit. 
	• Direct lifting of information from text affects the language marks negatively.
	• Candidates who were careless regarding the spelling and grammatical structures lost marks for language. For 

this exercise, they reproduce the information from the given text after tailoring it to suit the demand of the topic. 
Spelling and grammatical errors can be avoided.  

	• The topic for summary was clearly mentioned in the question

(i.e. 
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• The candidate should avoid writing irrelevant details and focus more on the topic given for the 
summary.  

 
Example Candidate Response - low Examiner comments 

Candidate script ID: 6133309250 

 

1. The candidate attempts to write a very basic 
response. There is only one valid point which is 
worth one mark only.  

2. The information conveyed in the beginning 
about temperature is irrelevant and inaccurate 
as the candidate does not handle the Urdu 
numerals properly. 

3. The candidate gives only one point about the 
first part of topic with the wrong information, 
which is evident of the candidate’s limited 
understanding.   

4. The third point about electricity does not 
convey the specific information required to 
qualify for one mark.  

5. The response shows spelling errors, although 
not impeding communication. 

6. The maximum allowed word limit is carefully 
observed by the candidate. 

Mark for Content = 1 out of 4 
Mark for Language = 3 out of 6 
Total mark awarded = 4 out of 10 

How the candidate could improve the answer 
• The candidate should avoid including any irrelevant details and carefully select the information 

relevant to the given topic for summary. It is important for candidates to read the text carefully, as the 
first point presented by the candidate was totally misunderstood. Instead of writing that all the 
villagers keep their cattle in one place at night to keep them warm, the candidate wrote that all the 
villagers stay in one place to keep themselves warm. 

• This candidate could write the third point about providing electricity more accurately, with specific 
detail mentioned in the text. A general statement that ‘the government has also provided electricity’ 
does not qualify for a mark. The required information is that ‘a dedicated power station has been set 
up by the government to generate electricity for the village’. The candidate should improve the 
quality of language with better organisation of ideas and accurate spelling. 

Common mistakes and guidance 

• There were plenty of opportunities for candidates to score maximum marks in this part. The points 
given for discussion were specific and clear and demanded exact information.  

• Candidates not familiar with this style of summary writing tried to summarise the whole passage and 
gave lengthy irrelevant details, missing out the required information or neglecting the word limit.  

• Direct lifting of information from text affects the language marks negatively. 

• Candidates who were careless regarding the spelling and grammatical structures lost marks for 
language. For this exercise, they reproduce the information from the given text after tailoring it to suit 
the demand of the topic. Spelling and grammatical errors can be avoided.   

• The topic for summary was clearly mentioned in the question (i.e.  ت  اور � ر� �ص  �  ں�با� � �ن  �او��  

ب  �
ن

ا�ا�ت ��وا� � � �ب ) which required selective information from within the given text. Two points 
for each part were required, making four points for 4 content marks. Writing more than two details for 
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• The candidate should avoid writing irrelevant details and focus more on the topic given for the 
summary.  

 
Example Candidate Response - low Examiner comments 

Candidate script ID: 6133309250 

 

1. The candidate attempts to write a very basic 
response. There is only one valid point which is 
worth one mark only.  

2. The information conveyed in the beginning 
about temperature is irrelevant and inaccurate 
as the candidate does not handle the Urdu 
numerals properly. 

3. The candidate gives only one point about the 
first part of topic with the wrong information, 
which is evident of the candidate’s limited 
understanding.   

4. The third point about electricity does not 
convey the specific information required to 
qualify for one mark.  

5. The response shows spelling errors, although 
not impeding communication. 

6. The maximum allowed word limit is carefully 
observed by the candidate. 

Mark for Content = 1 out of 4 
Mark for Language = 3 out of 6 
Total mark awarded = 4 out of 10 

How the candidate could improve the answer 
• The candidate should avoid including any irrelevant details and carefully select the information 

relevant to the given topic for summary. It is important for candidates to read the text carefully, as the 
first point presented by the candidate was totally misunderstood. Instead of writing that all the 
villagers keep their cattle in one place at night to keep them warm, the candidate wrote that all the 
villagers stay in one place to keep themselves warm. 

• This candidate could write the third point about providing electricity more accurately, with specific 
detail mentioned in the text. A general statement that ‘the government has also provided electricity’ 
does not qualify for a mark. The required information is that ‘a dedicated power station has been set 
up by the government to generate electricity for the village’. The candidate should improve the 
quality of language with better organisation of ideas and accurate spelling. 

Common mistakes and guidance 

• There were plenty of opportunities for candidates to score maximum marks in this part. The points 
given for discussion were specific and clear and demanded exact information.  

• Candidates not familiar with this style of summary writing tried to summarise the whole passage and 
gave lengthy irrelevant details, missing out the required information or neglecting the word limit.  

• Direct lifting of information from text affects the language marks negatively. 

• Candidates who were careless regarding the spelling and grammatical structures lost marks for 
language. For this exercise, they reproduce the information from the given text after tailoring it to suit 
the demand of the topic. Spelling and grammatical errors can be avoided.   

• The topic for summary was clearly mentioned in the question (i.e.  ت  اور � ر� �ص  �  ں�با� � �ن  �او��  

ب  �
ن

ا�ا�ت ��وا� � � �ب ) which required selective information from within the given text. Two points 
for each part were required, making four points for 4 content marks. Writing more than two details for 

 which required selective information from  
within the given text. Two points for each part were required, making four points for 4 content marks. Writing more than 
two details for any part does not gain marks as both parts of the topic must be addressed equally in order to gain 4 marks.     

	• The candidates should read the passage carefully and choose the specific information according to the topic given 
for summary. They should be able to extract the gist of the required information for their summary, separating the 
extended details in order to meet the requirement of the word limit (100 words). If they reproduce the information 
without properly cutting down on unnecessary details, they will exceed the allowed word limit. They must also be 
careful about the accuracy of the selected information in order to avoid losing marks.
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Exercise 5

Example Candidate Response – high Examiner comments
1  The response is well organised 

and coherent.

2  All the required points are 
addressed adequately. 

3  The ideas are effectively 
developed at appropriate length.

1

2

3
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Example Candidate Response – high, continued Examiner comments
4  The candidate has used well-

constructed and linked paragraphs. 

5  The candidate has used well-
constructed and linked paragraphs.  

Mark for Content = 6 out of 6

Mark for Language = 8 out of 8

Total mark awarded = 14 out of 14

How the candidate could improve the answer
Although the candidate meets the minimum criteria for top level in content as well as in language, the candidate could 
improve the expression by choosing to write brief sentences that are complete with connectives, instead of constantly 
writing lengthy ones with little use of linking words. This would make the composition easier and more pleasant to read 
with more clarity in meaning.

54
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Example Candidate Response – middle Examiner comments
1  Adequate language is used 

confidently, showing a fairly good 
approach.

2  Some attempt at presenting 
the response in well-structured 
paragraphs.

3  The candidate responds 
reasonably well to most of the 
required ideas with relevant points. 

4  Grammatical errors occur while 
using more ambitious language.

5  Ideas are satisfactorily 
developed at appropriate length.

1
2

3

5
4
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Example Candidate Response – middle, continued Examiner comments
6  Minor spelling errors are seen 

throughout, however they do not 
impede communication.

7  Details for the last prompt do not 
contain any solid information worth 
scoring any marks. 

Mark for Content = 4 out of 6

Mark for Language = 6 out of 8

Total mark awarded = 10 out of 14

How the candidate could improve the answer
	• The candidate could improve by giving more solid information related to the last prompt, i.e. any examples on 

advantages / disadvantages of extracurricular activities. The candidate could improve the answer by being more 
careful about the use of correct spelling as the errors in commonly used words and expressions show a careless 
approach. The candidate could have used more complex sentence structures correctly.

	• Dividing ideas further into paragraphs would be a way to maintain clarity and improve the answer. The candidate 
could have developed their ideas in a more detailed way, at appropriate length, to gain more marks.

6

7
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Example Candidate Response – low Examiner comments
1  The candidate displays a very 

basic response, with only one valid 
point, i.e. about performance at 
school. 

2  Almost all the prompts given for 
the task are neglected and irrelevant 
details are given.

3  Language is quite accurate and 
shows a good degree of control. 
Although, in the absence of sufficient 
content points, accuracy of language 
cannot gain much credit.

Mark for Content = 1 out of 6

Mark for Language = 2 out of 8

Total mark awarded = 3 out of 14

How the candidate could improve the answer
The candidate could improve the answer by reading the directions carefully and adding more relevant ideas to 
develop the answer to the appropriate length. The candidate needs to avoid adding unnecessary details which were 
irrelevant to the question.

1

2

3
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Common mistakes and guidance for candidates
	• This exercise consists of a directed writing task. There were three prompts given regarding the information 

they needed to include in their email, i.e. their selected subjects and reason for their choice, their academic 
performance at school and finally, their opinions about extracurricular activities. For each prompt, they need to 
include at least two points to gain full 6 marks for content.

	• For this writing exercise, 8 marks are allocated for accuracy and style of language; therefore, candidates should 
be careful about their spelling and grammar. The ideas should be presented in appropriate language and register, 
showing a good degree of control in using complex structures and developed at appropriate length. To maintain 
clarity, the ideas should be grouped into paragraphs in an effective manner.

	• Candidates who missed out one or more details lost marks. Some candidates lost marks for not writing the reason 
for their choice of specific subjects or not giving any solid points for the last prompt. They had to give one example 
and an advantage/disadvantage or two advantages/disadvantages or one advantage and one disadvantage to 
qualify for 2 marks for the last prompt. 

	• Quite a few candidates could not understand the expression 
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the answer by being more careful about the use of correct spelling as the errors in commonly used 
words and expressions show a careless approach. The candidate could have used more complex 
sentence structures correctly. 

• Dividing ideas further into paragraphs would be a way to maintain clarity and improve the answer. 
The candidate could have developed their ideas in a more detailed way, at appropriate length, to 
gain more marks. 

 
Example Candidate Response - low Examiner comments 

Candidate script ID: 6133906047 

 

1. The candidate has displayed a very basic 
response, with only one valid point, i.e. about 
performance at school.  

2. Almost all the prompts given for the task are 
neglected and irrelevant details are given. 

3. Language is quite accurate and shows a good 
degree of control. Although, in the absence of 
sufficient content points, accuracy of language 
cannot gain much credit. 

Mark for Content = 1 out of 6 
Mark for Language = 2 out of 8 
Total mark awarded = 3 out of 14 

How the candidate could improve the answer 
• The candidate could improve the answer by reading the directions carefully and adding more 

relevant ideas to develop the answer to the appropriate length. The candidate needs to avoid adding 
unnecessary details which were irrelevant to the question. 

Common mistakes and guidance  
• This exercise consists of a directed writing task. There were three prompts given regarding the 

information they needed to include in their email, i.e. their selected subjects and reason for their 
choice, their academic performance at school and finally, their opinions about extracurricular 
activities. For each prompt, they need to include at least two points to gain full 6 marks for content. 

• For this writing exercise, 8 marks are allocated for accuracy and style of language; therefore, 
candidates should be careful about their spelling and grammar. The ideas should be presented in 
appropriate language and register, showing a good degree of control in using complex structures 
and developed at appropriate length. To maintain clarity, the ideas should be grouped into 
paragraphs in an effective manner. 

• Candidates who missed out one or more details lost marks. Some candidates lost marks for not 
writing the reason for their choice of specific subjects or not giving any solid points for the last 
prompt. They had to give one example and an advantage/ disadvantage or two advantages/ 
disadvantages or one advantage and one disadvantage to qualify for two marks for the last prompt.  

• Quite a few candidates could not understand the expression � �� ���ں   (extra-curricular 

activities), thinking it meant illegal activities and responded accordingly. 

• It is very important to tailor the response according to instructions given in the question. 

 (extra-curricular activities), thinking it 
meant illegal activities and responded accordingly.

	• It is very important to tailor the response according to instructions given in the question.
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